Mol T
0%, Tadsy Al [T Secwide LT

Man- SLT
Twe~ ?\ro\ohvm WASN B /Ségr Ve h v\
WED — NOTH NG e \Sb
Tq\:/\vu\ - TVLT Dol T Pt
© e Lion e, T-USY N
. W s el whonaen
v\ -
4 T =T Do, U= U
- 2,

- Vi



e §R=>R Seo=5x MW

- SV(Xk\ = 'Q(Xz,\
SH = =k Go $d=Dnx) Mot

2 50 = (5% Ky =fe)
| X = (& Q) = G ( XL\
0y 0%

XQ:— XZ C = e/
2_ X = X>
2/4 4y = K
(W= g0 i

(N3 yor 3E3



. 5 ~3SX| +4 X2 (X3
& R (T - —X) 43X -3
-X| + Xy — X3
3 \\ —Z)X\ ——ZXL t4¥
T 13 . rl ~11
é) — | - ) 0 = | -3
Xk

:






5

5

hl

e YT

(LD

Cot 15H he | = | 0| dequatbe, SWEEAOC)
_X: -(-Xi —X3 | 0 Coe{@zm,]t M Y ’ ¢
‘Bx‘ “‘ZXZ—EL'HQ)R O ZEEF = 0 :
LT = sdade ot g = N0 ) = <{ :Tﬂ>

@) (3 E)



Thapgn WIT T Mgk KO = 104
T YD) IS 6 Subsgad (o U\>

& 1. >V\/\22 T((;H\os&cx - G20 —deeth
._._> 7 2h +5¢C - S‘D He

T s 0F) = Q
0-2otc  —Gtb X F} g MM 50
> G-ShYe 0 0 e% i g

Ody Db do sGSm  Q=¥=(=0
Oy Bk, o Sy i okoe=0 @ KD=10]

1
Wy T« M\S%\/Q ;




Thagan KPIZ Sufpe TUO=Y
P T W)= w OKCT)
KTV — Jus2| 2EKODY




